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AR E N B

At R E

IR =4 No.1
No4 HLO s & =Y/ No.1
H H A Bl B X HANL B
A HR 1.000 X 1.000 m’ 1.000
EAAREL ZN 1.0
THE 6.463 - 1.500 m 4.963

HPEL 0<N=4 2.046 1.800 m 3.846
FhEME T 4<N=8 m 0.000
m 0.000
/NEF m 3.846
WE LT 0<N=30 1.000 1.617 m 2.617
WE+ N>30 m 0.000
HIfLE m 0.000
/NEF m 2.617
BE+ 0<N=50 m 0.000
BE+ N>50 m 0.000
m 0.000
/NEF m 0.000
Xl m 6.463
BPEE 0<N=4 m 0.000
BEPEE 4<N=8 m 0.000
/NEF m 0.000
HEAE |[WEL 0<N=30 1.500 m 1.500
WE+ N>30 m 0.000
TRIRE s m 1.500
HE+ 0<N=50 m 0.000
M+ N>50 m 0.000
/NEF m 0.000
Xl m 1.500
Nob HLH R K=Y/ 'No.2
H H A Bl B X HANL B
A HR 1.000 X 2.500 m’ 2.500
EAAREL ZN 3.0
THE 6.232 - 1.500 m 4.732
AR+ 0<N=4 2.000 m 2.000
R 4<N=8 m 0.000
m 0.000
/NEF m 2.000
WE T 0<N=30 3.041 1.191 m 4.232
WE+ N>30 m 0.000
HIfLE m 0.000
/NEF m 4.232
BE+ 0<N=50 m 0.000
B+ N>50 m 0.000
m 0.000
/NEF m 0.000
Xl m 6.232
BEPEE 0<N=4 0.309 m 0.309
BEPEE 4<N=8 m 0.000
/NEF m 0.309
HEAE |[WEL 0<N=30 1.191 m 1.191
WE+ N>30 m 0.000
TRIRE s m 1.191
Y+ 0<N=50 m 0.000
M+ N>50 m 0.000
INEF m 0.000
Xl m 1.500




B M FE AN EFFEE No.2
Nos BT _E iR (12) &= 7'No.2
H H A Bl B X HANL B
A HR 1.000 X 2.500 m’ 2.500
EAAREL ZN 3.0
THE 6.212 - 1.500 m 4.712

HPEL 0<N=4 2.000 m 2.000
BiPEE 4<N=8 m 0.000
m 0.000
/NEF m 2.000
WE LT 0<N=30 3.041 1.171 m 4.212
WE+ N>30 m 0.000
HIfLE m 0.000
/NEF m 4.212
BE+ 0<N=50 m 0.000
g+ N>50 m 0.000
m 0.000
/NEF m 0.000
Xl m 6.212
BPEE 0<N=4 0.329 m 0.329
BEPEE 4<N=8 m 0.000
/NEF m 0.329
HEAE |[WEL 0<N=30 1.171 m 1.171
WE+ N>30 m 0.000
TRIRE s m 1.171
HYE - 0<N=50 m 0.000
M+ N>50 m 0.000
/it m 0.000
Xl m 1.500
Nos BT _EJEr (12ec) &= 7'No.2
H H A Bl B X HANL B
A HR 1.000 X 2.000 m’ 2.000
EAAREL ZN 2.0
THE 3.769 - 1.500 m 2.269
HPEt 0<N=4 0.728 m 0.728
B+ 4<N=8 m 0.000
m 0.000
/NEF m 0.728
WE T 0<N=30 3.041 m 3.041
WE+ N>30 m 0.000
HIFLE m 0.000
INEF m 3.041
Mg+ 0<N=50 m 0.000
g+ N>50 m 0.000
m 0.000
/NEF m 0.000
Xl m 3.769
BEPEE 0<N=4 0.728 m 0.728
BEPEE 4<N=8 m 0.000
/NEF m 0.728
HEAE |[WEL 0<N=30 0.772 m 0.772
WE+ N>30 m 0.000
TRIRE s m 0.772
Y+ 0<N=50 m 0.000
M+ N>50 m 0.000
INEF m 0.000
Xl m 1.500




B M FE AN EFFEE No.3
No24 HL0 T (v a—/L) &= 7'No.2
H H A Bl B X HANL B
A HR 1.000 X 1.000 m’ 1.000
EAAREL ZN 1.0
THE 3.239 - 1.500 m 1.739

HPEL 0<N=4 0.300 m 0.300
BiPEE 4<N=8 m 0.000
m 0.000
/NEF m 0.300
WE LT 0<N=30 2.939 m 2.939
WE+ N>30 m 0.000
HIfLE m 0.000
/NEF m 2.939
BE+ 0<N=50 m 0.000
g+ N>50 m 0.000
m 0.000
/NEF m 0.000
Xl m 3.239
BPEE 0<N=4 0.300 m 0.300
BEPEE 4<N=8 m 0.000
/NEF m 0.300
HEAE |[WEL 0<N=30 1.200 m 1.200
WE+ N>30 m 0.000
TRIRE s m 1.200
HYE - 0<N=50 m 0.000
M+ N>50 m 0.000
/it m 0.000
Xl m 1.500
No.6 HLH R K=Y/ 'No.2
H H A Bl B X HANL B
A HR 1.000 X 1.000 m’ 1.000
EAAREL ZN 1.0
THE 5.446 - 1.500 m 3.946
HPEt 0<N=4 2.000 m 2.000
B+ 4<N=8 m 0.000
m 0.000
/NEF m 2.000
WE T 0<N=30 2.485 0.961 m 3.446
WE+ N>30 m 0.000
HIFLE m 0.000
INEF m 3.446
Mg+ 0<N=50 m 0.000
g+ N>50 m 0.000
m 0.000
/NEF m 0.000
Xl m 5.446
BEPEE 0<N=4 0.539 m 0.539
BEPEE 4<N=8 m 0.000
/NEF m 0.539
HEAE |[WEL 0<N=30 0.961 m 0.961
WE+ N>30 m 0.000
TRIRE s m 0.961
Y+ 0<N=50 m 0.000
M+ N>50 m 0.000
INEF m 0.000
Xl m 1.500




AR E N B

At R E

IR =4 No.4
No.6 HLH P & =Y/ 'No.2
H H A Bl B X HANL B
A HR 1.000 X 1.000 m’ 1.000
EAAREL ZN 1.0
THE 5.346 - 1.500 m 3.846

HPEL 0<N=4 2.000 m 2.000
FhEME T 4<N=8 m 0.000
m 0.000
/NEF m 2.000
WE LT 0<N=30 2.485 0.861 m 3.346
WE+ N>30 m 0.000
HIfLE m 0.000
/NEF m 3.346
BE+ 0<N=50 m 0.000
BE+ N>50 m 0.000
m 0.000
/NEF m 0.000
Xl m 5.346
BPEE 0<N=4 0.639 m 0.639
BEPEE 4<N=8 m 0.000
/NEF m 0.639
HEAE |[WEL 0<N=30 0.861 m 0.861
WE+ N>30 m 0.000
TRIRE s m 0.861
HE+ 0<N=50 m 0.000
M+ N>50 m 0.000
/NEF m 0.000
Xl m 1.500
No.7 HLH R & =Y/ 'No.3
H H A Bl B X HANL B
A HR 1.000 X 2.500 m’ 2.500
EAAREL ZN 3.0
THE 5.075 - 1.500 m 3.575
AR+ 0<N=4 2.200 m 2.200
R 4<N=8 m 0.000
m 0.000
/NEF m 2.200
WE T 0<N=30 1.038 1.837 m 2.875
WE+ N>30 m 0.000
HIfLE m 0.000
/NEF m 2.875
BE+ 0<N=50 m 0.000
B+ N>50 m 0.000
m 0.000
/NEF m 0.000
Xl m 5.075
BEPEE 0<N=4 m 0.000
BEPEE 4<N=8 m 0.000
/NEF m 0.000
HEAE |[WEL 0<N=30 1.500 m 1.500
WE+ N>30 m 0.000
TRIRE s m 1.500
Y+ 0<N=50 m 0.000
M+ N>50 m 0.000
INEF m 0.000
Xl m 1.500




B M FE AN EFFEE No.5
No.7 L0 s & =Y/ 'No.3
H H A Bl B X HANL B
A HR 1.000 X 2.500 m’ 2.500
EAAREL ZN 3.0
THE 5.055 - 1.500 m 3.555

HPEL 0<N=4 2.200 m 2.200
FhEME T 4<N=8 m 0.000
m 0.000
/NEF m 2.200
WE LT 0<N=30 1.038 1.817 m 2.855
WE 1+ N>30 m 0.000
HIfLE m 0.000
/NEF m 2.855
BE+ 0<N=50 m 0.000
BE+ N>50 m 0.000
m 0.000
/NEF m 0.000
Xl m 5.055
BPEE 0<N=4 m 0.000
BEPEE 4<N=8 m 0.000
/NEF m 0.000
HEAE |[WEL 0<N=30 1.500 m 1.500
e+ N>30 m 0.000
TRIRE s m 1.500
HYE - 0<N=50 m 0.000
M+ N>50 m 0.000
INEF m 0.000
Xl m 1.500
No8 HLH Ry & =Y/ 'No.3
H H A Bl B X HANL B
A HR 1.000 X 1.000 m’ 1.000
EAAREL ZN 1.0
THE 4.969 - 1.500 m 3.469
AR+ 0<N=4 2.200 m 2.200
R 4<N=8 m 0.000
m 0.000
/NEF m 2.200
WE T 0<N=30 1.087 1.682 m 2.769
WE 1+ N>30 m 0.000
HIfLE m 0.000
/NEF m 2.769
BE+ 0<N=50 m 0.000
B+ N>50 m 0.000
m 0.000
/NEF m 0.000
Xl m 4.969
BEPEE 0<N=4 m 0.000
BEPEE 4<N=8 m 0.000
/NEF m 0.000
HEAE |[WEL 0<N=30 1.500 m 1.500
WE 1+ N>30 m 0.000
TRIRE s m 1.500
Y+ 0<N=50 m 0.000
M+ N>50 m 0.000
INEF m 0.000
Xl m 1.500
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